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uksV & iz'u i= rhu [k.Mksa esa foHkDr gS A lHkh rhu [k.Mksa ds iz'u funsZ'kkuqlkj gy

dhft;s A vadksa dk foHkktu izR;sd [k.M esa fn;k x;k gS A

Note: Question paper is divided into three sections. Attempt question of all three section
as per direction. Distribution of Marks is given in each section.
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[k.M & ^v*  Section - 'A'

izR;sd bdkbZ ls nks iz'u gy dhft;s A

Attempt two questions from each unit.

vfry?kqmRrjh; iz'u] 'kCn lhek 30 'kCnksa esaA (10x2=20)

Very short answer question (word limit 30 words.)

bdkbZ & I  / Unit -I

1- izca/kdh; ys[kkfof/k dh fo'ks"krk,a crkb;sA

Discuss the characteristics of Management Accounting.

2- foRrh; fooj.k ds egRo dk o.kZu dhft;sA

Discuss the importance of financial statements.

3- vkSlr olwyh vof/k D;k gS \

What is average collection period ?
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bdkbZ & II  / Unit -II

4- dks"k izokg fooj.k D;k gS \

What is a fund flow statement ?

5- foRrh; fØ;kvksa ls jksdM+ dh x.kuk dSls dh tkrh gS \

How cash from financing activities is calculated ?

6- dks"k izokg fooj.k ds izca/kdh; mi;ksxksa dks crkb;sA

Explain the managerial use of fund flow statement.

bdkbZ & III  / Unit -III

7- lhekar ykxr ys[kkadu dh lhek,a crkb;sA

Write down limitation of Marginal costing.

8- can djus dk fu.kZ; D;k gS \

What is shut down decision ?

9- foHksnkRed ykxr ls D;k vk'k; gS \

What is meant by differential cost ?

bdkbZ & IV  / Unit -IV

10- ctVjh fu;a=.k D;k gS \

What is Budgetary control ?

11- jksdM+ ctV ds D;k mn~ns'; gS \

What are the objectives of Cash Budget ?

12- mRrjnkf;Ro dsUnz D;k gS \

What is Responsibility centre ?
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bdkbZ & V  / Unit -V

13- izeki ykxr fof/k ds mn~ns'; crkb;sA

Discuss the objectives of standard costing.

14- fu;a=.kh; ,oa vfu;a=.kh; fooj.k D;k gS \

What is controliable and uncontroliable variation ?

15- Je ykxr fooj.k D;k gS \

What is a Labour cost variance ?

[k.M & ^c*  Section - 'B'

y?kqmRrjh; iz'u ¼'kCn lhek 60 'kCn½

Short answer question (words limit 60 words) 5x6=30

lHkh iz'u gy dhft;sA

Attempt all questions.

bdkbZ & I  / Unit -I

16- izca/kdh; ys[kkadu dh fofHkUu rduhdksa dk o.kZu dhft;sA

Explain the various tools of Managerial Accounting.

vFkok@OR

foRrh; fooj.k ds egRo dk o.kZu dhft;sA

Discuss the importance of Financial statement.
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bdkbZ & II  / Unit -II

17- dks"k izokg fooj.k ,oa vkfFkZd fpV~Bk esa varj Li"V dhft;sA

Distinguish between fund flow statement and Balance Sheet.

vFkok@OR

dk;Z'khy iwath esa ifjorZu dh vuqlwph dk uewuk nhft;sA

Give the specimen at schedule at change in working capital statement.

bdkbZ & III  / Unit -III

18- lhekar ykxr ys[kkadu dh lhek,a crkb;sA

Write down Limitation of Marginal costing.

vFkok@OR

lhekar ykxr fof/k ds ykHkksa dk laf{kIr o.kZu dhft;s A

Explain in brief the advantages of marginal costing methods.

bdkbZ & IV  / Unit -IV

19- 'kwU; vk/kkj ctV ls D;k vk'k; gS \ blds ykHk ,oa lhekvksa dh foospuk dhft;sA

What is meant by zero base Budgeting ? Discuss the advantages and Limitations.

vFkok@OR
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fdj.k fy- ds 2021&22 o"kZ ds lapkyu ifj.kke fuEu izdkj gS &

The operating results at Kiran Ltd. for the year 2021-22 are as follows :

Rs.

Sales 8,00,000

Less variable cost 5,60,000

Contribution 2,40,000

LessFixed art 80,000

Net profit 1,60,000

daiuh ds rhu foHkkxksa ds fu"iknu ls lacaf/kr vfrfjDr lwpuk,a fuEu izdkj gS %

The additional information relating to performances at three department of the

company are as follows :

A (Rs.) B (Rs.) C (Rs.)

Sales 3,52,000 2,28,000 1,60,000

Variable cost 2,40,000 1,76,000 1,44,000

Direct fixed cost 28,800 22,400 12,800

vk; fu"iknu ewY;kadu izfrosnu rS;kj dhft;s rFkk rhu foHkkxksa dh lkisf{kr ykHknk;drk

ds vk/kkj ij dksfV fu/kkZfjr dhft;sA

You are required to prepare performance Evoluation report and rank the three

departments on the basis at relative Profitting.

bdkbZ & V  / Unit -V

20- izeki ykxr ys[kkadu rFkk ctVjh fu;a=.k esa varj le>kb;sA

Explain the difference between standard costing and Budgetary control.

vFkok@OR
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fuEu ls lkexzh ykxr fopj.k dh x.kuk dhft;sA

From the following calculate material cost variance.

izfr bdkbZ ds fy, lkexzh dh izekfir ek=k

Stantadard metal quality per unit 2 kg

izekfir ewY; izfr fd-xzk- Standard Price per kg Rs. 4

Ø; lkexzh dk okLrfod ewY; Actual value of matel purchase Rs. 4000

lkexzh dk vafre LVkWd Closing stock at material 200 kg

izfr bdkbZ okLrfod iz;ksx Actual Usage 2.5 kg

rS;kj LVkWd dk foØ; Finished stock sold 200 unit

rS;kj eky dk vafre LVkWd Closing stock of finished good 40 units

[k.M & ^l*  Section - 'C'

nh?kZmRrjh; iz'u&

Long answer question: 2x15=30

fuEukafdr esa ls fdUgh nks iz'uksa dks gy dhft;sA

Attempt any two questions from the following:-

 bdkbZ & I  / Unit -I

21- fuEu lwpukvksa ls ,d daiuh dk vkidks vkfFkZd fpV~Bk rS;kj djuk gS &

From the following information at a company you are required to prepare Balance

Shedt :

dk;Z'khy iwath (Working capital) Rs. 75000

lap; ,oa vkf/kD; (Reserve & surplus) Rs. 1,00,000

cSad vf/kfod"kZ (Bank overdraft) Rs. 60,000

pkyw vuqikr (Current Ratio) 1.75:1

rjy vuqikr (Liquid Ratio) 1.15:1

LFkk;h dks"k % xSj pkyw laifRr .75

(Non current Assets to Proprietors fund)



bdkbZ & II  / Unit -II

22- vftZr fy- ds fuEu fpV~Bs ls jksdM+ cgh o fooj.k rS;kj dhft;s &

From the following Balance Sheet at Arjit Ltd. :

Liabilities 31.03.2020 31.03.2021 Assets 31.3.2020 31.03.2021

Capital 7,00,000 8,00,000 Building 6,00,000 5,40,000

Creditor 1,00,000 80,000 Machinery 2,00,000 1,80,000

R/P 50,000 20,000 Stock 10,000 15,000

Debt 20,000 15,000

B/R 10,000 8,000

Grass 10,000 1,42,000

8,50,000 9,00,000 8,50,000 9,00,000

vfrfjDr lwpuk,¡ %& (Additional Information)

1. u rks dksbZ vkgj.k Fkk u gh dksbZ iawth esa o`f) gqbZ \

There was neither nor any addition to capital.

2. LFkk;h laifRr;ksa dk u rks dksbZ foØ; gqvk vkSj u gh dksbZ Ø; A

There was neither any sale nor every purchase at fixed Assets.

bdkbZ & III  / Unit -III

23- vuU;k fy- ds fuEukafdr ys[kkadu vfHkys[k miyC/k gS %

Following recort are available from the accounting records :

Year Sales Profit/Loss

2019-20 25,000 5,000 (Loss)

2020-21 75,000 5,000 (Profit)

x.kuk dhft;s & (Find out)

1. ykHk ek=k vuqikr (P/W Ratio)

2. LFkk;h ykxr (Fixed cost)

3. lqj{kk lhek o"kZ 2020&21 ds fy, (Margin of safety year 2020-21)

PC-087 P.T.O.

(7)



4. lefoPNsn fcanq (B.E.P.)

5. 15000 :- ykHk dekus gsrq foØ; (Require sales to earn a profit Rs. 15000)

bdkbZ & IV  / Unit -IV

24- vk;kZ da- ,d izekf.kd oLrq dk mRiknu djrh gS A vuqekfur izfr bdkbZ ykxr fuEu gS&

dPph lkexzh 4 :- izR;{k Je 2 :- ifjorZu'khy ykxr 5 :- v/kZifjorZu'khy ykxrsa

bl izdkj gS &

vizR;{k lkexzh 235 :-] vizR;{k Je 156 :-] ejEer 570 :-]

v/kZifjorZu'khy ykxrksa esa ifjorZu'khy ykxr izfr bdkbZ fuEu gS &

vizR;{k lkexzh 0-05 :-] vizR;{k Je 0-008 :-] ejEer 0-10 :-]

fLFkj ykxrsa bl izdkj gS &

dkj[kkuk mifjO;; 2000 :- iz'kkldh; mifjO;; 3000 :- fcØh ,oa forj.k O;; 2500 :- A

mijksDr ykxrsa 70% lkekU; {kerk ij mRikfnr 700 bdkbZ dh gS A foØ; ewY; izfr

bdkbZ 30 :- gS A

mijksDr vkadM+ksa dh lgk;rk ls 60%, 80% rFkk 100% lkekU; {kerk ij ykspnkj ctV

rS;kj dhft;sA

Aaryan Co. Produce a standard product. The estimated cost per unit one as

follows :

Raw Material Rs. 4, Direct Labour Rs. 2, Variable overhead Rs. 5. The semi

variable costs are Indirect mortal.

Rs. 235, Indirect Labour Rs. 156, Maintence & Repair Rs. 570.

The variable cost per unit included in semi variable are.

Indirect matel Rs. 0.05, Indired Labour Rs. 0.08, Maintenance & Repair Rs. 0.10.

The fixed cost are factory exp. Rs. 2000, Administration Exp. Rs. 3000. selling &

distribution exp. Rs. 2500.

The above costs are for 70% normal capacity producing 700 units. The

selling price is Rs. 30 per unit. Prepare flexible Budget for 60%, 80% & 100%

normal capacity with the help of above.
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bdkbZ & V  / Unit -V

25- fuEu ls Je fopj.k Kkr dhft;s &

Calculate Labour variance from the following data :

izeki okLrfod

Standard (Actual)

dk;Zjr O;fDr;ksa dh la[;k 100 90

(No. of Men Employed)

mRiknu bdkbZ;ka 5000 4800

(Production Units)

,d ekg esa dk;Zjr fnuksa dh la[;k 20 18

(No. of working days in a month)

izfr O;fDr izfr ekg vkSlr etnwjh 200 198

(Average wages per man per month)

--00--
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